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Candidates are requireq 1o answer all questions.

(w) Question No. 1 (One) is compulsory and is of objective type.
(ii)  Question No. I has 20 (twenty) questions carrying 2 (two) marks each.
(iv)

Question No. 2 10 6 are of descriptive nature & answers should not
exceed 500-600 words.

(v) Question No. 2 to 6 are of equal volue carrying 32 (Thirty two) marks
each.

e - () w2 ¥ wsh oue R wfa S
(@) AT WG 1 (TF) A @ 0SS WER w5
(iii) W FEAT 1 (TF) F 20 (@) WE B 9 GH 2 () 35 w1 OE
(iv) 99 §E 2 ¥ 6 Toaomeos § 595 3R 500-600 w51 @ sifas 7 26
(v) VST HET 29 6 & 9 UET & WM aXER § adl WelE U 32

(Tite) 37 H 2
Marks
1. Compulsory Questions (rfamd we) ==
(2)(20:40)

. Which of the following statements is not true regarding lunar eclipse?
(A) Itis safe to look at lunar eclipse
(B) Total lunar eclipses are rare
(C) During total lunar eclipse, some sunlight reaches the Moon through Earth’s

atmosphere
(D) Partial lunar eclipse occurs only when the Moon and the Sun are on exact

opposite sides of the Earth
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. How fast an object is moving along a definite direction represents its
(A) speed (B) velocity

(C) power (D) All of the above
fort Frfesra foum & @ =g fraet s Wi R, quldt ©
(A) wER =T B) TR A

(C) zuh wfEd (D) SR |l

III. Which of the following is a result of Earth’s revolution around the Sun?

(A) Winter and Summer (B) Sunrise and Sunset

(C) Day and Night (D) All of the above

fir % & S gl & g A feem WA w1 giond @7

(A) ofra Tar e g (B) WARA T Y
(C) fem am T (D) JUEd |
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IV,
\\.flmh animals L‘.m hear ultrasopic sounds?
(A) Bats and Elephants (3)  Dolphins and Whales
(C)  Moths and Dolphing (D) Bats and Rhinoceroses
H‘ﬁ?[ ‘a ST YO8 Lal?i?” “’;] “uﬁ‘l ;» ?
(f\) ﬂﬂlllf‘g dﬂ.{ m’j} (“) 'fﬁl?;IFf-" jﬂ{ ;{'.(.i
V. Cell theory was proposed by
(A)  Schleiden and Schwann (B)  Sutton and Boveri
(C) Watson and Crick (D) Darwin and Wallace
wifvem fagia wfawfea fmar
(A) 9ESA Ud A W gRI (B) ¥ TA AT g
(C) aTedd e e gy (D) =Tfda g derm grl
VL. *Crossing-over’ during meiosis occurs in the stage of
(A) leptotene (B) zygotene
(C) pachytene (D) diplotene
St frore # i s A GR e
(A) WA (B) S H
(C) U D) fewrd
VII. ‘Beriberi’ is caused by the deficiency of
(C) Vitamin C £ =T
-3 T Fpmeht w0 @ B 7
(A i @ 6 B) frerfim B1 &
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karyotic cells do not have

(B)  mitochondrion
(D)  All of the above

VIiL Pro
(A) distinct nucleus

() golgi body
B LA

(A) T g - ,
() st e (D) TTF A

b o

(B) 2 "9

oil particles is referred to as
(B) soil texture

(D) soil profile

[¥. Arrangement of s
(A) soil structure
(C) soil series

ﬁ—g%wﬁﬁwmmm‘%

(A) &I EC @) fagr & =mEe
(C) a1 "R’ (D) Tal WIFEd

¥.  In which sub-zone of Jharkhand, rain shadow area comes?

(A) Agro-climatic sub-zone v (B) Agro-climatic sub-zonc v

(C) Agro-climatic sub-zone VI (D) Agro-climatic sub-zone M1
STz % TR T9eE # 9l 9T & ATl § 7
(A) FY Serarg IuEA IV B) F Feag S9Ed V

(C) S Sterarg S9&E VI D) Y Ferarg FusE 0

XI. Downward movement of water from surface layer of soil is called
(A) percolation (B) hydraulic conductivity
(C) infilration (D) seepage

fiedt ¥ 9 e § T F AS A AR T@™ B Fed

(A) TIHA (TERIIA) (B) & giaETeA
(C) 37a: ®=A D) feEm=
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XI1. Which of the following is not allowed in organic farming?
(A) Bulffer zone (B) Cover crops
(C) Sewage sludge (D) Crop rotation
S At # A R by i 2
(A) &H T (B) R FE
(C) wiaw =g D) FEE =
XIII. Which one of the following is not responsible for land degradation?
(A) Urbanization (B)  Drought
(C) Mining (D)  Deforestation
ufr % smaed #, 1 § F 9w wems W @ e
(A) IR B) H@I
(©) @11 O) == o=
XIV. ‘Dobson unit’ is used to measure which one of the following ?
(A) Pesticide contamination of water
(B) Thickness of ozone layer
(C) Soil erosion
(D) None of the above
g e, e § A gt A 2 7
(A) S H HIEAINEE Tgu
(B) NI 4Xq i HISTS
(©) HaT AReA
D) I § | HE T
CCSME17 (14)/18 PT.O.
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xV. Which ol the following is considered o be the Global Carbon Sink? 0]
(A)  Sahara Desert (B)  Arctic ocean
(C)  Antarctic lee Sheet (D) Equatorial Rainforests
frarferRaa 1 A Rpd sproseia e (e e s 2
(A) TERI "oedd (B)  smkfes wemme
(C) eThies fenavs (D) e 9qi 94
XVI. Silent Valley Movement was related to
(A) water conservation (B)  air conservation
(C) forest conservation (D) bio-diversity and forest conservation
(A) S wREw # (B) @ W& #H
(C) a9 e 4 (D) “a fafguer aa a7 @=wam 3
XVII. Headquarters of Indian space program is located at
'(A)  Sriharikota (B) Bengaluru
(C) Pokhran (D) New Delhi
R 3aier T &1 Jearas g ¢
(A) el ¥ (B) = mdE H
(C) vrE # (D) 7 foweit
XVIII. Disease caused by parasitic infection is
“(A) malaria (B) leprosy
(C) cancer (D) AIDS
TRSAE] HRH ST AT 2
(A) FfE (B) FSIM
(C) R (D) U=H
Con®
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XIX, Who i known as the fathe o Indian pNA fingerprinting”
(A) M.V. Rao (B)  Janakt Ammal
(©) i{;\jt'x\ailii.\;ill},!|ll’;lln(l;l (D) Lalji Singh
TR pNA i firfg h S R R T ST e ?
(A) wm i z7q B) SR e
© o fie wig (D) @Terstt firg
XX. Which of the l'ollowing 18 Indiy’s first indigenous Covid-19 vaccing?
(A) IndCov-]
(B) Covishielq
(C) Covaxin
D) ZyCov.p
3 g FH-H, g BT e FR-19 Fay €7
(A) E\"E'ﬂila—l
B)  Frefrofres
(©)  Frderfry
D) g
2, Dcﬁhne gravity, Weighg, impact and POwer. Wrje NS of eaep, M MKS ang CGs Unig 32
I, T R R B i
RANE: E S MKS aqy
CGS gfyz 3 |
OR/ STy
thzt i$ soung? Explain it Production, Propagation g4 chamcteﬁstics. Diﬂ‘crent'
audible, intrasonje and ultrasonjc sounds, e bel“'“‘e“
%W%?Eﬂ%%,%ﬁﬁ%%ﬂﬁ%l T, Sy
T ¥ e g ifim, ‘ T Ry
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3. Write the names of two hormones secreted from adrenal gland and pancreas. Tllyg o
Bl as. Mgy, .
functions also. e thejr

3
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OR / 3¥an

Describe the different stages of mitotic cell division.

« WEE S faem ) ffe smenst @ wiw Sk

4 Explainabout the organic farming in detail, 3

St Tt A foege omenm =%
OR / 31¥=n

Write in brief about climate change and sustainable agriculture.

Seag uiEadd ud feds @l % am § afgw v

¥ "Overutilization of resources is the main cause of ecological imbalance.” Comment.

“HHIEET w1 TS TN gTfEafad sEaed S qe wRw 2| fewl fifm)

OR / d¥=n

Discuss the WildLife, Water and Forest Acts in India.
wRa # @ Wed, @ U@ a9 sfufEl f sl S

‘/g% Conto
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6 Explain nucleqr energy generation. What are its merits and demerits? Describe India 32
on CTRT,
TR 33 zermen @1 wwmE) =y o #k @ ¥ 87 CTBT UG
feafa afity fifm, }
OR / st
What s Information Technology? How does it impact our daily lives? Describe its role in the
development of rural India.
TN enfofy #n B2 A owaw mm 2 e #oweiled S 27 AED
a4 fawm a4 zafy qfiemr w1 afs ENE
* % K
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